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Mr. Schlansky Geometry

Identifying Sequences of Rigid Motions Multiple Choice
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1. In the diagram below, congruent figures 1, 2, and 3
are drawn. AL
Which sequence of transformations maps figure 1 onto F B
figure 2 and then figure 2 onto figure 3? 7 l
R a line reflection followed by a translation E c
2) apoint reflection followed by a translation Ny #
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B4 a translation followed by a reflection
‘ a translation followed by a rotation
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2. A sequence of transformations maps rectangle ABCD onto rectangle 4”B"C"D", as shown in

the diagram below.

Which sequence of transformations maps ABCD onto A'B'C'D’ and then maps A'B'C'D’ onto

A "B "C"D II? y
a line reflection followed by a rotation ERRYATLY T
a line reflection followed by a translation Y i
a translation followed by a rotation )‘A i BT- ~ ‘
4 a translation followed by a line reflection N mmeam
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3. Which sequence of transformations will map AABC onto AA4'B C'? 1
‘ line reflection and translation | -
% point reflection and line reflection T
3) translation and dilation A | A‘v(j'u');
@ dilation and rotation N ES T
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4. Identify which sequence of transformations could map pentagon ABCDE onto pentagon
A”B”C”D”E”, as shown below.
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ilation followed by a rotation A—Fg—F =
translation followed by a rotation W \r ?\
line reflection followed by a translation C B 5

line reflection followed by a line reflection | SCN ‘7
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5. Triangles ABC and DEF are graphed on the set of axes below (_{)
~ Which sequence of rigid motions maps A4BC onto ADEF ? ENENEE
Xl) A reflection over y=—x+2 . A i
@A point reflection through (0,2) HL nENENE
X 3) A translation 2 units left followed by a reﬂwthﬁ-&ams . _—"}\ > X
D
A4 A translation 4 units down folowed by a reflection over the y-axis AB=ap
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6. In the diagram below, AABC = ADEC. fe o
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Which transformation will map AABC onto ADEC? l W«)Sl\" o ottt
) a rptation . A3) a tFanslation 'followed by a dilation ? C(w Smjl 7 ling l@ﬂedn&/)
@ a line reflection /@ a line reflection followed by a second
line reflection A DB
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7. On the set of axes below, AABC = A4'B' C. NEEERE FERN
Triangle ABC maps onto AA'B'C after a M S X@ .
1) reflection over the line y = —x @ point reflection through (1,1) [ N ‘ @' > ";A .
2) reflection over the line 4) rotation of 180° centered at SEYE ARNBREEN N
y=-x+2 the origin » TR velas TRcs
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8. In the diagram below, AABC = ADEF. |
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Which sequence of transformations maps A ABC onto ADEF?

1) areflection over the x-axis followed by a rotation of 180° about the origin
a translatio ’ followed by a translation
2) areflection over the y-axis followed by counterclockwise rotation of 90°
a translation bout the origin followed by a
translation

9. Triangle ABC and triangle DEF are graphed on the set of axes below.

ich sequence of transformations maps triangle ABC onto triangle DEF?
a reflection over the x-axis followed by a y
reflection over the y-axis [ i ! RN
2) apoint reflection through the origin | NN :_
followed by a reflection over the line y = x T : ‘::‘\\\ = ‘CCU
) a90° clockwise rotation about the origin LA L ING -
: : \LZENERER )
followed by a reflection over the y-axis = y )
4) a translation 8 units to the right and 1 unit up P 1T 5 L){W’/u‘ﬂqj(ld/)
followed by a 90° counterclockwi tatio PN
ollowed by a: ounter ise rotation é:":‘v- | wla Smﬂ}Q
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10. On the set of axes below, pentagon ABCDE is congruent to A"B"C"D"E".
Which describes a sequence of rigid motions that maps ABCDE PRI S—
onto A"B"C"D"E"? R -
><’ 1) a rotation of 90° counterclockwise about the origin SRR (L“)
followed by a reflection over the x-axis SR [')ir :
2)a rotation of 90° counterclockwise about the origin N M e
ollowed by a translation down 7 units ——— % L
>< 3) a reflection over the y-axis followed by a reflection =il 6(;@/‘3‘51*0)/)
over the x-axis d(‘)éj,j kg !1(_ ' 1 ;ml,' @ ,S‘%h ling
) a reflection over the x-axis followed by a rotation Pt O’Q\Q(A"M i
of 90° counterclockwise about the origin I § SRR
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11. On the set of axes below, ALET and AL"E"T" are graphed in the coordinate plane where

ANLET = AL"E"T". , (( VOSI L,
Which sequence of rigid motions maps /A ZLET onto AL"E"T"? o P L bk A“‘)A
><1) a reflection over the@ a rotation of 90° R Emm" il W
y-axis followed by a counterclockwise about the %’E‘\ {le éC-\-CQ/]
reflection over the origin followed by a A
X=axis reflection over the y-axis mu TPéf L
XZ) a rotation of 180°  4) a reflection over the x-axis e VAN SN
- about the origin followed by a rotation of CEETT NPz e
90° clockwise about the et R 4
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12. On the set of axes below, congruent triangles ABC and DEF are drawn.
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Which sequence of transformations maps A ABC onto A DEF?
1)) A counterclockwise rotation of 90 3) A point reflection through the origin,

degrees about the origin, followed by a followed by a translation 4 units down. ('00(
translation 8 units to the right.

2) A counterclockwise rotation of 90 4) A clockwise rotation of 90 degrees
degrees about the origin, followed by a '><about the origin, followed by a

reflection over the y-axis.
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reflection over the x-axis.
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